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Turnover
1.
(a)
Create the following document using word processor.  Use the current year 

in the date field, print and save as letter.                                                 
(13 marks)
Human Resource Manager,

United Group of Societies,

P. O. Box 1648,

Pata

Date:



(insert current year)

Dear Sir/Madam,

RE: MANAGEMENT TRAINEES

This is to inform you that you have been appointed as a management trainee in the marketing department.  Please confirm your acceptance of this offer.  You can do this by writing or getting in contact with the training manager on telephone number 0123-274768 on or before


 (insert date)
On behalf of the entire management team, I congratulate you on this successful appointment and look forward to working with you.

Bary Amani

Human Resource Manager
(a)
Mail merge the document to the following and save the primary file as letter 1.  
(4 marks)


(i)
Clinford Mwamba



P. O BOX 321




KIMATHI
(ii) Janet Grace

P.O BOX 8871

SANDA

(iii) Rosejoy Ushindi

P.O BOX 545

KALOLENI

(iv) Melsa Akinyi

P.O BOX 908

KISUMU
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Kahuro/Kiharu

(b)
Insert the table below and save it as Table 1.





(10 marks)

	ITEM
	UNIT
	PRICE/UNIT

IN KSH.
	PRICE PER

ITEM

	Sugar
	5kg
	45
	

	Tea 
	3.5 pounds
	15
	

	Bread 
	4 pieces
	23
	

	Fat 
	2 litres
	60
	

	Salt 
	1 bag
	500
	

	Milk 
	5 litres
	25
	

	GRAND TOTAL
	




(i)
Calculate all the prices using a formula and write the formula.

(10 marks)


(ii)
Calculate the grand total using a formula and write down the formula.
(4 marks)



(iii)
Add another column and write down the following details.


(4 marks)




Column


make




Row



wheat flour, unit 3kg, price/unit Ksh.82



(iv)
Save the table as Table 2.  






(2 marks)

(v)
Print Table1, Table2, Letter and Letter1.




(3 marks)

2.
A water company officer collected the following information from a few of its customers.  The information was read from water meters installed at the customer’s premises. These reading will be used to determine the number of units consumed and subsequently prepare the bill the customer incurred during the month of May 2010.
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Kahuro/Kiharu
(a)
Using a spreadsheet, prepare a (PR-Previous reading unit, Cr – current reading units)
(12 marks)

	Nancy Peace

	Pr
	Cr 

	1020
	1099


	Baraka  John

	Pr
	Cr 

	3520
	9200


	Jema C.A

	Pr
	Cr 

	1920
	1599


	Gregory Mzungu

	Pr
	Cr 

	7242
	7893


	N.A Joy

	Pr
	Cr 

	1509
	1599


	TeresiaHawi

	Pr
	Cr 

	1675
	1811


(b)
Give your work the heading below and save it as BILL




(4 marks)

WATER CONSUMPTION ANALYSIS

MUKUYU RESIDENTIAL PLOT METERS
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Kahuro/Kiharu
(c)
In order to obtain the meter units consumed by a customer by a customer, the previous reading 

must be deducted from the current reading.  In one column.




(11 marks)

(i) Insert a formula to calculate the number of the units consumed by each customer.

(ii) Insert a formula to show the total number of units consumed by all the customers.

(iii) Format all the values calculated in (C)I and ii above to three decimal places.

(iv) Add the following data for two other customers.

	Neema D.O

	Pr
	Cr 

	1456
	1505


	BridgitAmina

	Pr
	Cr 

	2031
	2300


(v) Adjust all calculation to reflect the two new customers.

(d) The company charges kshs 1.80 per unit of water consumed.  Enter the charges per unit in cell D13.











(1 mark)

(i) Compute the amount chargeable to each customer.  Format the value to two decimal places.

Save this workbook as BILL1






(2 marks)

(ii)
Calculate average amount chargeable in this area.




(2 marks)

(e) Arrange the list of customers from the one who has the lowest number of units of water consumption, to the one with the highest.








(3 marks)

(f) The government of Kenya charges value added tax (VAT) of 16% on every sale.  Charge 

this VAT to each customer and calculate the total value payable by each customer including 

this Tax.  Format the value to two decimal places.





(4 marks)

(g)
(i)
Draw a bar graph comparing the total amount payable by a customer before tax, with the 

value payable by customer including tax.  Save it as BILL2



(8 marks)





(ii)
Print BILL, BILL1 and BILL2.






(3 marks) 
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Kahuro/Kiharu
MARKING SCHEME

Extended Binary Coded Decimal Interchange Code

(d)     CMOS complementary metal oxide semiconductor.

2.    Explain three types of errors that are likely to exist in a program.



(3 marks)
· Syntax error – When the grammar of a programming language is not followed/violated
· Logical error – the program run but gives wrong results

· Runtime error – Abnormal/unexpected stoppage at the time or running/execution 
   
of a program.
(1 mark)

form 1 computer students during a 

a)   
Identify the components in Figure 1 and Figure 2 above.



(2 marks)


Figure 1 – Main memory/RAM

Figure 2 – Processor/microprocessor/CPU
b)
Explain how each of the components identified influence on the capability of a computer. 

(2 marks)
RAM: The higher the memory capacity of RAM the high the processing speed of the computer because high RAM storage enables the computer the process many/large application program.

Processor: High processing speed lead to computers being faster because the higher 
the clock speed the faster the computer.
Magnetic tape

b)
Explain two disadvantages of using the storage media above.



(2 marks)

· Slow because of it sequential/linear storage of data records on the tape.

· Results to wastage of storage space because of the inter-record gaps (IRG). 

does not have



(c)
Name and explain three levels of programming languages.



(3 marks)

· User can easily understand the error messages.

= 101010


= 11010.001


.

(1 mark)

(1 mark)




1 mark

12 marks

4 marks
Form 1 computer students during a 

b.
Highlight three characteristics of computer that has been infected by a virus.

(3 marks)

levels of programming languages.


(3 marks)

(2 marks)

(1 mark)

(1 mark)

(b)
Using six bits find the two’s complement representation of -2710


(5 marks)
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